Best model for HELP J003901.805-435714.640 at z = 2.582 y2=1.2
OPTx2=1.41 IRx?=1.14 threshold (OPT IR)=28.66 [um]

Stellar attenuated

102 ----- Stellar unattenuated
th —— Dust emission
m —— AGN emission
101 m— Model spectrum
1] ® Model fluxes
M oObserved fluxes
— 10° Q
>
£
x 1071
=
[N
1 0_2 "’[\"ﬁ' “v___’ﬁ“j)rr«.wv#" v,
10°3

X

>

1071

© 1 mfe= (Obs-Mod)/Obs

S ]

S ]

& 1 L

O 0= T r-eemmmmg= === = e ———————

o ]

) ]

2 ]

EU -1 T T R | T R |

e 10° 101 102 103 104 10°

(o'

Observed wavelength [um]



